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(D0 () ()=

(2) (x?)*= ;
3) ()= ;
D) (xp)* () (xp)>=

(5) (:3x°p)(-5x%y*z)=

.
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(6)-3ab*(-4a+3ab-2)=
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BT (m+n)(a+b)Fl(ma+mb+na+nb)3= /<[] —iR I HEHFR,
A

(m+n)(a+b)= ma + mb + na + nb.
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(mtn)(atb) = (m+n)a+(m+n)b

= ma+mb+na-+nb. 67/#1
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[5i1] 5
(1) (x+2)(x-3);

=x2-3x +2x -6

=x2-x-6

(2) 2x+5p)(3x-2y).

=6x” -4xy +15xy -10y”

=6x2+11xy-10y?



[512] 5 :
(1) (m-2n)(m>*+mn-3n?)
(2) (3x2-2x+2)(2x+1)
(1) (m-2n)(m*+mn-3n?)
=m- m* +m-mn-m-3n*-2n-m*-2n-mn+2n-3n*
=m3 +m*n-3mn*-2m*n-2mn*+6n’
=m3-m’n-Smn*+6n’
(2) (Bx2-2x+2)(2x+1)
=6x3+3x%-4x2-2x+4x+2

=6x3-x2+2x+2



G—i

1. i‘l‘g

(1) (x+5)(x-7);
=x2-Tx+5x-35
=x2-2x-35

(3) 2m+3n)(2m-3n);
=4m>+6mn-6mn-9n>

=4m?>-9n>

(2) (+5)(x-7p);
=x2-Txy+5xy-35y*

=x2-2xy-35y>

(4) (2a+3b)>
=4a>+12ab+9b?



1. & (x=1) (xtm) =x+2x+n, NIEHnHER (
A. 3 B. 2 C. -3 D. -2

[iFfE) f#: " (x=1) (x+tm) =x%+ (m—1) x—m,
Som—1=2, n=—m,

#2158 . m=3, n=—3.
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